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QUESTION 1

Which statement is true regarding default roles?

A. The DBSA can define a default role to assign only to the PUBLIC group for a particular database.

B. The privileges associated with a default role takes precedence over the privileges granted to an individual user.
C. The DBSA can define a default role to assign to individual users or to the PUBLIC group for a particular database.

D. When a user connects to a database, it is necessary to use the SET ROLE DEFAULT statement in order to gain the
default role privileges.

Correct Answer: C

QUESTION 2

What is the primary benefit of a Storage Pool?

A. It allows data to be shared across instances.

B. It allows data to be shared across dbspaces.

C. It allows space to automatically be added to dbspaces.

D. It allows space to be reserved for critical database operations.

Correct Answer: C

QUESTION 3

Which statement is true for starting Connection Manager?

A. Only user root and informix.

B. Any user of the DBSA group.

C. Any user who is granted privileges to connect to the sysadmin database.

D. Only a user of the DBSA group with privilege to connect to the sysadmin database.

Correct Answer: D

QUESTION 4

The following message is received: Lock table overflow - user id user32, session id 54. What action should be taken to
prevent this problem in the future?

A. Run onclean utility to clear the lock table.
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B. Increase the LOCKS configuration parameter.
C. Turn on the AUTO_TUNE configuration parameter.
D. Change the DEF_TABLE_LOCKMODE configuration parameter from page to row.

Correct Answer: B

QUESTION 5

The purge policy CANNOT be executed for a rolling window table utilizing which method?
A. By calling the syspurge function.

B. By the purge_tables task of the Scheduler.

C. By setting up the server to automatically run the purge policy.

D. By running ALTER FRAGMENT with the PURGE NOW predicate.

Correct Answer: D
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